
MATHS

BOOKS - NDA PREVIOUS YEARS

INDEFINITE INTEGRATION

Mcq

1. If , then what is 

 dx equal to ?

A. 

f(x) = ln(x − √1 + x2)

∫f' ' (x)

+ c
1

(x − √1 + x2)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_tpSvBbDtIntI


B. 

C. 

D. 

Answer: B

Watch Video Solution

− + c
1

√1 + x2

−√1 + x2 + c

ln(x − √1 + x2) + c

2. If , then what is

g(x) equal to ?

A. 

B. 

∫secxcosecxdx = log|g(x)| + c

sinx cos x

sec2 x

https://dl.doubtnut.com/l/_tpSvBbDtIntI
https://dl.doubtnut.com/l/_v0qdFYgoX8br


C. 

D. 

Answer: C

Watch Video Solution

tanx

log|tanx|

3. What is the value of  ?

A. 

B. 

∫
dx

(x2 + a2)(x2 + b2)

∫ + c
[{tan− 1(x/a)}/a − {tan− 1(x/b)}/b]

(a2 + b2)

∫ + c
[{tan− 1(x/a)}/a + {tan− 1(x/b)}/b]

(a2 + b2)

https://dl.doubtnut.com/l/_v0qdFYgoX8br
https://dl.doubtnut.com/l/_7MVuvOUVCEso


C. 

D. 

Answer: D

Watch Video Solution

∫ + c
[{tan− 1(x/a)}/a + {tan− 1(x/b)}/b]

(b2 − a2)

∫ + c
[{tan− 1(x/a)}/a + {tan− 1(x/b)}/b]

(b2 − a2)

4. What is the value of ?

A. 

B. 

∫(√x + x)
− 1

dx

ln(x + √x) + c

2 ln(1 + √x) + c

https://dl.doubtnut.com/l/_7MVuvOUVCEso
https://dl.doubtnut.com/l/_MDGj4igvgbI4


C. 

D. 

Answer: B

Watch Video Solution

2 ln(x + √x) + c

2 ln(x − √x) + c

5. Evaluate: (i) 
(ii) 

A. 

B. 

C. 

∫  dx
sin √x

√x
∫  dx

(x + 1)ex

sin2(x ex)

−ex cot x + c

cos2(xex) + c

log sin(xex) + c

https://dl.doubtnut.com/l/_MDGj4igvgbI4
https://dl.doubtnut.com/l/_2LIWEdyBdzfH


D. 

Answer: D

Watch Video Solution

−cot(xex) + c

6. What is  equal to?

A. 

B. 

C. 

D. 

∫ log(x + 1). dx

x log(x + 1) − x + c

(x + 1)log(x + 1) − x + c

+ c
1

x + 1

+ c
log(x + 1)

x + 1

https://dl.doubtnut.com/l/_2LIWEdyBdzfH
https://dl.doubtnut.com/l/_zWWevFuHB6qu


Answer: B

Watch Video Solution

7. If , then what is f(x)

equal to ?

A. 

B. 

C. 

D. 

Answer: C

∫ = log{f(x)}2 + c
dx

f(x)

2x + α

x + α

+ α
x

2

x2 + α

https://dl.doubtnut.com/l/_zWWevFuHB6qu
https://dl.doubtnut.com/l/_GlvnkZKAccxV


Watch Video Solution

8. What is  equal to?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫(ex + 1) − 1
dx

ln(ex + 1) + c

ln(e−x + 1) + c

− l(e−x + 1) + c

−(ex + 1) + c

https://dl.doubtnut.com/l/_GlvnkZKAccxV
https://dl.doubtnut.com/l/_OKzTzpjxom9u
https://dl.doubtnut.com/l/_nLBH1tEF3gBC


9. What is  equal to ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
dθ

sin2 θ + 2 cos2 θ − 1

tan θ + c

cot θ + c

tan θ + c
1

2

cot θ + c
1

2

10. What is  equal to ?∫sinx log(tanx)dx

https://dl.doubtnut.com/l/_nLBH1tEF3gBC
https://dl.doubtnut.com/l/_VH4jUeSTRr6W


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos x log tanx + log tan(x/2) + c

−cos x log tanx + log tan(x/2) + c

cos x log tanx + log cot(x/2) + c

−cos x log tanx + log cot(x/2) + c

11. Assertion (A) :

.
 Reason (R) :∫ (1 + x logx)dx = ex logx + c
ex

x

∫ex[f(x) + f' (x)]dx = exf(x) + c

https://dl.doubtnut.com/l/_VH4jUeSTRr6W
https://dl.doubtnut.com/l/_0D23I7yQSwuZ


A. Both A and R are true and R is the correct

explanation of A

B. Both A and R are true but R is not the

correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: B

Watch Video Solution

12. What is  equal to ?∫tan2 x sec4 xdx

https://dl.doubtnut.com/l/_0D23I7yQSwuZ
https://dl.doubtnut.com/l/_SRyIYehZIUBR


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+ + c
sec5 x

5
sec3 x

3

+ + c
tan5 x

5
tan3 x

3

+ + c
tan5 x

5
sec3 x

3

+ + c
sec5 x

5
tan3 x

3

13. What  is equal to ?

A. 

∫secx ∘ dx

log(secx ∘ + tanx ∘ ) + c

https://dl.doubtnut.com/l/_SRyIYehZIUBR
https://dl.doubtnut.com/l/_qpWz3hPvrc0Q


B. 

C. 

D. 

Answer: A

Watch Video Solution

+ c
π log tan( + )π

4
π

2

180∘

+ c

180∘ log tan( + )π

4
x

2

π

+ c
180∘ log tan( + )π

4
x

360 ∘

π

14. What is  equal to ?

A. 

B. 

∫ dx
a + b sinx

cos2 x

a secx + b tanx + c

a tanx + b secx + c

https://dl.doubtnut.com/l/_qpWz3hPvrc0Q
https://dl.doubtnut.com/l/_yr83RMmlYJ5z


C. 

D. 

Answer: B

Watch Video Solution

a cot x + bcosecx + c

acosecx + b cot x + c

15. What is  equal to? 


where c is a constant

A. 

B. 

C. 

∫ dx
logx

(1 + logx)2

+ c
1

(1 + logx)
3

+ c
1

(1 + logx)
2

+ c
x

(1 + logx)

https://dl.doubtnut.com/l/_yr83RMmlYJ5z
https://dl.doubtnut.com/l/_YqsXci8xnClc


D. 

Answer: C

Watch Video Solution

+ c
x

(1 + logx)2

16. What is  equal to ? 


Where 'c' is a constant of integration

A. 

B. 

C. 

D. 

∫eln x sinxdx

eln x(sinx − cos x) + c

(sinx − x cos x) + c

(x sinx + cos x) + c

(sinx + x cos x) − c

https://dl.doubtnut.com/l/_YqsXci8xnClc
https://dl.doubtnut.com/l/_YJ5FQAbhkj97


Answer: B

Watch Video Solution

17. What is  equal to ? 


Where 'c' is a constant of integration

A. 

B. 

C. 

D. 

Answer: C

∫ dx
x4 + 1

x2 + 1

− x + 4 tan− 1 x + c
x3

3

+ x + 4 tan− 1 x + c
x3

3

− x + 2 tan− 1 x + c
x3

3

− x − 4 tan− 1 x + c
x3

3

https://dl.doubtnut.com/l/_YJ5FQAbhkj97
https://dl.doubtnut.com/l/_ybUeAMCmh3uk


Watch Video Solution

18. If , then what

are the values of m and n respectively ? 

where c is a constant od intergration

A. 

B. 

C. 

D. 

Answer: B

W t h Vid S l ti

∫x2 lnxdx = lnx + + c
x3

m

x3

n

−
1

3

1

9

3, − 9

3, 9

3, 3

https://dl.doubtnut.com/l/_ybUeAMCmh3uk
https://dl.doubtnut.com/l/_gf2WXNLhs5jb


Watch Video Solution

19. What is  equal to ? 


where c is a constant of integration

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ dx
1

1 + ex

x − logx + c

x − log(tanx) + c

x − log(1 + ex) + c

log(1 + ex) + c

https://dl.doubtnut.com/l/_gf2WXNLhs5jb
https://dl.doubtnut.com/l/_EgHcKGEB0X8p
https://dl.doubtnut.com/l/_VDr2IOlGj96L


20. What is  equal to ? 


Where 'c' is a constant of integration

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫√xe√xdx

2e√x(x − 2√x + 2) + c

2e√x(x + 2√x + 2) + c

2e√x(x + 2√x − 2) + c

2e√x(x − 2√ − 2) + c

https://dl.doubtnut.com/l/_VDr2IOlGj96L


21. What is  equal to ? 


Where 'c' is a constant of integration

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫secn x tanxdx

+ c
secn x
n

+ c
secn− 1 x

n − 1

+ c
tann x

n

+ c
tann− 1 x

n − 1

https://dl.doubtnut.com/l/_XU9lJcMFA1Nv


22. What is  equal to ? 


where c is a constant of integration

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ dx
ex(1 + x)

cos2(xex)

xex + c

cos(xex) + c

tan(xex) + c

ccosec(xex) + c

https://dl.doubtnut.com/l/_sX9ZBfLhLZoC


23. What is  equal to 


(where C is a constant of integration)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ex(√x + )dx
1

2√x

xex + C

ex(√x) + C

2ex(√x) + C

2xex + C

https://dl.doubtnut.com/l/_kVyO3gNHag69


24. What is  equal to ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ dx
sin √x

√x

+ C
cos √x

2

2 cos √x + C

+ C
−cos √x

2

−2 cos √x + C

https://dl.doubtnut.com/l/_QpntmTQP8xON


25. What is  equal to ? 


Where K is a constant of integration

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫sin− 1(cos x)dx

− + K
xπ

2
x2

2

+ + K
π

2
x2

2

− − + K
xπ

2
x2

2

− + K
π

2
x2

2

https://dl.doubtnut.com/l/_8SHMyGTNMwxl


26. What is  equal to ? 


where c is the constant of integration

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
dx

sin2 x cos2 x

tanx + cot x + c

tanx − cot x + c

(tanx + cot x)2 + c

(tanx − cot x)2 + c

https://dl.doubtnut.com/l/_nUMgGQyZOqKO


27. Consider the following : 

1.  2.  


where c is the constant of integration. Which of

the above is/are correct ?

A. 1 only

B. 2 only

C. Both 1 and 2

D. Neither 1 nor 2

Answer: D

Watch Video Solution

∫ ln10dx = x + c ∫10xdx = 10x + c

https://dl.doubtnut.com/l/_xqtv2bbFcJf0


28. What is  equal to ? 


where c is a constant of integration

A. 

B. 

C. 

D. None of the above

Answer: C

Watch Video Solution

∫(x2 + 1) xdx
5
2

(x2 + 1) + C
7
2

(x2 + 1) + c
2

7

7
2

(x2 + 1) + c
1

7

7
2

https://dl.doubtnut.com/l/_3y3yCfo4tN59


29. What is  equal to ? 


where c is the constant of integration

A. 

B. 

C. 

D. None of the above

Answer: C

Watch Video Solution

∫axexdx

+ c
axex

lna

axex + c

+ c
axex

ln(ae)

https://dl.doubtnut.com/l/_kmkvYaNUYZUN


30. What is  equal to ?

A. 

B. 

C. 

D. None of the above

Answer: A

Watch Video Solution

∫ dx
lnx

x

+ c
(lnx)2

2

+ c
(lnx)

2

(lnx)2 + c

https://dl.doubtnut.com/l/_8To8SWm2BrD2


31. What is  equal to ? 


where c is the constant of integration

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫( − )dx
1

cos2 x

1

sinx x

2cosec2x + c

−2 cot 2x + c

2 sec 2x + c

−2 tan 2x + c

https://dl.doubtnut.com/l/_YCyDNnOMPc7g


32. What is  equal to ? 


where c is constant of integration

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫elnxdx

xelnx + c

−xe− lnx + c

x + c

+ c
x2

2

https://dl.doubtnut.com/l/_gQygbf4zymBe


33. What is  equal to ?

A. 

B. 

C. 

D. None of the above

Answer: A

Watch Video Solution

∫
dx

xlnx

ln(lnx) + c

lnx + c

(lnx)2 + c

34. What is  equal to ?∫
dx

√4 + x2

https://dl.doubtnut.com/l/_Ja0yYcj6bD49
https://dl.doubtnut.com/l/_ntFcMkxv0lSL


A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

ln∣
∣√4 + x2 + x∣

∣ + c

ln∣
∣√4 + x2 − x∣

∣ + c

sin− 1( ) + c
x

2

35. What is  equal to ? 


Where c is an arbitary constant

A. 

∫sin2 xdx + ∫cos2 xdx

x + c

https://dl.doubtnut.com/l/_ntFcMkxv0lSL
https://dl.doubtnut.com/l/_JAXitHYNvmQY


B. 

C. 

D. None of these

Answer: A

Watch Video Solution

+ c
x2

2

x2 + c

36. What is  equal to ?

A. 

B. 

C. 

∫ee
x

exdx

ee
x

+ c

2ee
x

+ c

ee
x

ex + c

https://dl.doubtnut.com/l/_JAXitHYNvmQY
https://dl.doubtnut.com/l/_knqs8VcLWPjD


D. 

Answer: A

Watch Video Solution

2ee
x

ex + c

37. What is  equal to ? 


Where c is an arbitrary constant

A. 

B. 

C. 

D. 

∫(x cos x + sinx)dx

x sinx + c

x cos x + c

−x sinx + c

−x cos x + c

https://dl.doubtnut.com/l/_knqs8VcLWPjD
https://dl.doubtnut.com/l/_CnFgjSglydW7


Answer: A

Watch Video Solution

38. What is the equation of a curve passing

through (0, 1) and whose differential equation is

given by ?

A. 

B. 

C. 

D. 

dy = y tanxdx

y = cos x

y = sinx

y = secx

y = cosecx

https://dl.doubtnut.com/l/_CnFgjSglydW7
https://dl.doubtnut.com/l/_EVdpgGGVXoDN


Answer: C

Watch Video Solution

39. Consider

,

where C is the constant of integration 

What is the value of A ?

A. 1

B. 

C. 

D. 

∫x tan− 1 xdx = A(x2 + 1)tan− 1 x + Bx + C

1/2

−1/2

1/4

https://dl.doubtnut.com/l/_EVdpgGGVXoDN
https://dl.doubtnut.com/l/_5RkAY49hrmKA


Answer: B

Watch Video Solution

40. Consider

,

where C is the constant of integration 

What is the value of B ?

A. 1

B. 

C. 

D. 

∫x tan− 1 xdx = A(x2 + 1)tan− 1 x + Bx + C

1/2

−1/2

1/4

https://dl.doubtnut.com/l/_5RkAY49hrmKA
https://dl.doubtnut.com/l/_xURkqlLLjvd7


Answer: C

Watch Video Solution

41. Consider the function f ''(x) = sec^4 (x) + 4 with

f(0) = 0 and f'(0) = 0  equal to ?

A. 

B. 

C. 

D. 

Answer: B

f' (x)

tanx − + 4x
tan3 x

3

tanx + + 4x
tan3 x

3

tanx − + 4x
sec3 x

3

−tanx − + 4x
tan3 x

3

https://dl.doubtnut.com/l/_xURkqlLLjvd7
https://dl.doubtnut.com/l/_BD4Nlv2cLeYl


Watch Video Solution

42. Consider the function

What is  equal to ?

A. 

B. 

C. 

D. 

Answer: A

h id l i

f' ' (x) = sec4 x + 4  with f(0) = 0 and f' (0) = 0

f(x)

+ + 2x22 ln secx
3

tan2 x

6

+ + 2x23 ln secx
2

cot2 x

6

+ + 2x24 ln secx
3

sec2 x

6

ln secx + + 2x2tan4 x

12

https://dl.doubtnut.com/l/_BD4Nlv2cLeYl
https://dl.doubtnut.com/l/_0uD6oQUl8FXp


Watch Video Solution

43.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ dx
xex

(1 + x)2

(x + 1)2
ex + c

(x + 1)ex + c

+ c
ex

x + 1

+ c
ex

(x + 1)2

https://dl.doubtnut.com/l/_0uD6oQUl8FXp
https://dl.doubtnut.com/l/_ju8ZmrRDZF2v


44. The integral  is of the form 

 


What is r equal to ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
dx

a cos x + b sinx

 In[tan( )]
1

r

x + α

2

a2 + b2

√a2 + b2

a + b

√a2 + b2

https://dl.doubtnut.com/l/_9oPlxjhSBiFD
https://dl.doubtnut.com/l/_GElgE3fPxNvP


45. The integral  is of the form 

 


What is  equal to ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
dx

a cos x + b sinx

 In[tan( )]
1

r

x + α

2

α

tan− 1( )
a

b

tan− 1( )
b

a

tan− 1( )
a + b

a − b

tan− 1( )
a − b

a + b

https://dl.doubtnut.com/l/_GElgE3fPxNvP


46. What is  equal to ?

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

∫
dx

√x2 + a2

ln
∣
∣
∣

∣
∣
∣

+ c
x + √x2 + a2

a

ln
∣
∣
∣

∣
∣
∣

+ c
x − √x2 + a2

a

ln
∣
∣
∣

∣
∣
∣

+ c
x2 + √x2 + a2

a

47. ∫
(x4 − 1)dx

x2√x4 + x2 + 1

https://dl.doubtnut.com/l/_XA4RWFEQXIAX
https://dl.doubtnut.com/l/_ZD2B7lbYuWjl


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√ + c
x4 + x2 + 1

x

√x4 + 2 − + c
1

x2

√x2 + + 1 + c
1

x2

√ + c
x4 − x2 + 1

x

48. 

A. 

B. 

∫ (x cos3 x − sinx)dx
esin x

cos2 x

(x + secx)esin x + c

(x − secx)esin x + c

https://dl.doubtnut.com/l/_ZD2B7lbYuWjl
https://dl.doubtnut.com/l/_8Gt0AietVqqa


C. 

D. 

Answer: B

Watch Video Solution

(x + tanx)esin x + c

(x − tanx)esin x + c

49. What is  equal to?

A. 

B. 

C. 

D. 

∫
dx

x(x7 + 1)

ln
∣
∣
∣

∣
∣
∣

+ c
1

2
x7 − 1

x7 + 1

ln
∣
∣
∣

∣
∣
∣

+c

1

7

x7 + 1

x7

ln
∣
∣
∣

∣
∣
∣

+ c
x7 − 1

7x

ln
∣
∣
∣

∣
∣
∣

+ c
1

7

x7

x7 + 1

https://dl.doubtnut.com/l/_8Gt0AietVqqa
https://dl.doubtnut.com/l/_8Hu4hcwUEagn


Answer: D

Watch Video Solution

50. What is  equal to ?

A. 

B. In 

C. In 

D. 

Answer: D

Watch Video Solution

∫
(xe− 1 + ex− 1)dx

xe + ex

+ c
x2

2

(x + e) + c

(xe + ex) + c

 In (xe + ex) + c
1

e

https://dl.doubtnut.com/l/_8Hu4hcwUEagn
https://dl.doubtnut.com/l/_syRHw6f1xhGX


Watch Video Solution

51. Let F(x) be an indefinite integral of  


Statement-1: The function F(x) satisfies

 for all real x. because 


Statement-2:  for all real x. 


A) Statement-1: True , statement-2 is true,

Statement -2 is not a correct explanation for

statement -1 

c) Statement-1 is True, Statement -2 is False. 

D) Statement-1 is False, Statement-2 is True.

A. Both the Statement are true and Statement

2 is the correct explanation of Statement 1

sin2 x

F (x + π) = F (x)

sin3(x + π) = sin2 x

https://dl.doubtnut.com/l/_syRHw6f1xhGX
https://dl.doubtnut.com/l/_N5sXli1bIFml


B. Both the Statement are true but Statement 2

is not the correct explanation of Statement 1

C. Statement 1 is true but Statement 2 is false

D. Statement 1 is false but Statement 2 is true

Answer: B

Watch Video Solution

52. What is  equal to ?

A. 

B. 

∫tan− 1(secx + tanx)dx

+ + c
πx

4
x2

4

+ + c
πx

2
x2

4

https://dl.doubtnut.com/l/_N5sXli1bIFml
https://dl.doubtnut.com/l/_7QqZwverkcST


C. 

D. 

Answer: A

Watch Video Solution

+ + c
πx

4
πx2

4

− + c
πx

4
x2

4

53.  is equal to

A. 

B. 

C. 

D. 

∫(  Inx) − 1
dx − ∫(Inx) − 2

dx

x(In x) − 1 + c

x(In x) − 2 + c

x(  In x) + c

x(In x)2 + c

https://dl.doubtnut.com/l/_7QqZwverkcST
https://dl.doubtnut.com/l/_8uw3Qo5MtzXC


Answer: A

Watch Video Solution

54. What is  equal to ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
dx

2x − 1

ln(2x − 1) + c

+ c
ln(1 − 2−x)

ln 2

+ c
ln(2−x − 1)

2 ln 2

+ c
ln(1 + 2−x)

ln 2

https://dl.doubtnut.com/l/_8uw3Qo5MtzXC
https://dl.doubtnut.com/l/_0sZU56UyH8oW


Watch Video Solution

55. What is  equal to ? 


Where c is the constant of integration

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫sin3 x cos xdx

cos4 x + c

sin4
x + c

+ c
(1 − sin2 x)

2

4

+ c
(1 − cos2 x)

2

4

https://dl.doubtnut.com/l/_0sZU56UyH8oW
https://dl.doubtnut.com/l/_I7DRsBO5t7tC
https://dl.doubtnut.com/l/_DtbBfF9xw7lS


56. What is  equal to ?

A. In 

B. In 

C. 

D. 

Answer: B

Watch Video Solution

∫eIn ( tan x ) dx

|tanx| + c

|secx| + c

tanx + c

etan x + c

57. What is  equal to ?∫
dx

a2 sin2 x + b2 cos2 x

https://dl.doubtnut.com/l/_DtbBfF9xw7lS
https://dl.doubtnut.com/l/_qYLPhRPWkm07


A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

c + tan− 1( )
1

ab

a tanx

b

c − tan− 1( )
1

ab

b tanx
a

c + tan− 1( )
1

ab

b tanx
a

58. What is  equal to ?

A. 

B. 

∫ ln(x2)dx

2x ln(x) − 2x + c

+ c
2

x

https://dl.doubtnut.com/l/_qYLPhRPWkm07
https://dl.doubtnut.com/l/_5OmlSEGUGLSf


C. 

D. 

Answer: A

Watch Video Solution

2x ln(x) + c

− 2x + c
2 ln(x)

x

59. What is  equal to ?

A. 

B. 

C. 

D. 

∫ex ln ( a ) dx

+ c
ax

ln(a)

+ c
ex

ln(a)

+ c
ex

ln(ae)

+ c
aex

ln(a)

https://dl.doubtnut.com/l/_5OmlSEGUGLSf
https://dl.doubtnut.com/l/_yahIuEpqMu8h


Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_yahIuEpqMu8h

